Mini-Test 2, October 6, 2005




Name_______________________________
****Keep your answers short and to the point.****

****Answer ALL parts of the questions.****

1.  Tree rings are composed of both earlywood and latewood xylem cells.  Structural differences in these cells result in a non-uniform pattern of ring growth in a single year.  Describe the (A) structural and (B) functional differences between earlywood and latewood.
2. (A) What are two primary differences between the xylem tissues: tracheids and vessels?  (B) What is cavitation, and in which xylem tissue is it a concern?
3.  (A) How do mycorrhizae interact with plants?  (B) Why do we consider the relationship to be symbiotic?
4. How does water enter the root?  (Hint: There are 2 pathways; describe both of them.).   How does the plant ensure that pathogens do not enter the root system?
Mini-Test 2 – Make-up, October 6, 2005



Name_______________________________

****Keep your answers short and to the point.****

****Answer ALL parts of the questions.****

1.   There are two main overall categories of roots (Hint: NOT tap, fibrous or adventitious roots).  (A) What are they?   (B) What are their primary purposes (list 1-2)?  (C) Do they contain suberin?  (D) Which root type has the most biomass?  (E) The most surface area?
2.  (A) What is cavitation?  (B) In which cells does it occur?  (C) Why is it a problem for a tree?
3. (A) There are two  components of bark.  What are they?  (B) What function(s) do they serve?  (C) Where do they come from?
4.  (A) What is the function of the root cap?  (B) What are the 2 purposes of the mucigel surrounding the root cap?  (C) Describe 2 of the 3 primary zones of development behind the root cap.
